EAGEREM =S hE
h &R R Zay = MIR(=43

Chapter 2 Identities and Factoriztion

Name: Class: ( ) Date: Teacher:
Level 1 — =

1. (a+b)(a-b)=

2 (c’:ler)2 =

5. (a-b) =
H E_j

1. Prove that the equation 3(2x — 4) = 2(-6 + 3x) is an identity.

2. Determine whether each of the following equations is an identity.

@ +Dx-1)=2x(x+1)+(x-1) (b) 2x(x—1)—-x-5=2x—=5)(x+1)

3. If(x—2)(x+5)=x>+Px+ Q, where P and Q are constants, find P and Q.



4. Expand the following.

(@ (x-5)(x+5) (@ (k+3)
(b) (6-x)(6+x) (h) (1 +7n)?
© (T+y(7-y) (i) (m-8)
(d) (@2x+7)(2x-7) (G) @p+D?
() (Bx—4)(3x+4) (k) (5m+2n)®

(f)  (4x+5y)(4x-5y)

5. Factorize the following expressions.
(@ 9c+9d (d) 3kx—9%ky— 15kz
(b) —ab-2a (e) 8a’+20ab* —12a
(¢) 3a-+2ab-ac () 24xH° — 40x)° — 56x%7°



6. Expand the following.

(@) (4a-3)(-4a+3) (h) (mn—4)(—mn—4)
(b) (~h+3k)3k+h) (i) (-3 -5n)?

(©) 2(Bm-1)(@1+3m) () (-8a+5b)?

(d) 3(3x+5y)(@3Bx—5y) (k) 3(x-y)y

E:)) Sa izyz))((iixgz) 0 [x3)

@ 5-2)=5+))



7.  Factorize the following expressions.
(@) 3m’n+m*—3n*—n
(b) 4p*>—3q—2pgq+6p
() —12x* —4xy —18x -6y

8.  Without using a calculator, find the values of the following expressions.
(@) 77> -23? (b) 298 x 302

9. Without using a calculator, find the values of the following expressions.

(@) 2052 (b) 472
Level 2
10. Factorize the following expressions.
(@) 2ax-+4bx—2cx+ay+2by—cy (b) 8ax+ 6bx —4ay —3by + 12a+9b



11.
(@) Expand (x + 3y)°.
(b) Hence, expand (x + 3y — 2)(x + 3y + 2).

12. Expand the following.
(@ Expand (2x + 9y)(2x — 9y).
X 3y

(b) Using the result of (a), expand (% + SyJ(g —7j .

13. If (x +3M)(2x — 1) + 4 =x(2x — 7) + N, where M and N are constants, find M and N.
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P4 PEA: ( ) HI:
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1. AbF&
4a’p’ 8b-2a
(a) >ab (d) 22 _4ab
8m-12m? yX—2X+Yy—2
(®) 12mn © y-2
X — 4by
2. AbfH
4m_ 5n 8m* n 3n
@ n " 8m © = Bm
(b) 9.9 (d) bm-bn 3¢

5p 10 ax cn—cm



3. AtfE

(a)

(b)

(©)

(d)

5n n

3m  3m
6X 8y

3x—4y_3x—4y
4 1

5n m

2y vy 1y
3x  2x 12x

2m n
3m—4n 2(4n-3m)

M 1+

(€)

1-4y
3y

6x

2X+5y

(9)



4, FEFENT =t+273.15 - Ft=32 » K T

5. EEANX 0=)y'-F y=3-K Q-

7. EEAFRVE=ui+2as o v=20 - u=10 FZs=15 K a-



8. FENAX y=kxt+tb-35 y=17~ k=-3 fz b=5>K x-

9. THIE A EHER B PATTH -
(@) K=2pt [p] (b) 5+%=:

10. £y AKX y-c=m6-y) BIEIHE -

[x]



BE_:

11. fbff

3 2
(@) +
a-2b 2b-a

2X X
2x-1 x+3

(b)

12. —(HE&Kam WIE n BPAER P m AJEAZP = na K5 - —{EB5F R 40
m HIE/ VBRI B & ZES /D ?
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13. THEFRE SRR A S 1 IR ERHIE Dem fl dem-
SRR AR T THISEAERE V om?®

EJEH/AEEV=%n(D3+d3) R %5 D=4 fl d=2 HI50 cm® {4t RS R

DISIfE 3 SishrHyRE 1 ?

SFRRIRAVE R - (3 =314 )
[«——Decm——> |=dcm~]

s .1 2
14. % x fEAT ng OER=
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15, —$EABPAE (om [ wem & hom - CAVER Mg THLITFAR
ki3
M =19.3/wh.
(@) BBL M Fow R
(b) EA—HERAHEPEEME 900g - FHER 12cm &M Som - THEERES
/9
(P2 8mE BT 0lcm-)

16. —fE1E n BROEHERNAINAN T ATEHEL N AZORE |
;_(1=2)x180"
n
@ < npERAAIER -
(b) EENAE R 120° WIEZERILE L/ RS ?
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BAG TR EH A
h SRR SBIIEMR
BhE 2% HAE A

W A ( )  HHH:
SRR 4 = I R AT -
1. AHKG = N\UST 2. /AMLN=/\QRP
U 6 L
H r R
45
> k-3 t+4
M
K G .
50
S
N

IS =P EEE -

3. 4.
A D L P
F
B E u N 9 H R

Hlir MY TR E = AP —E 2% o WaRIHE -

5.
A P X
/\ AE T
B C
7 Q 7 R z
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KPS EEU = AP R aRAE -
6. /\ABC~ /\LMN 7. ADEF~ ARPQ

A

60° 50°

DREU%T@J% R R (E = A AR R - [58 1—4

AN A

12

10. 1F[&H - CDA #1 CEB &\ &HAR - 568 ANABC ~ ADEC -
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11.

12.

13.

14.

15.

16.

11. 1£Et » AABC= AEFD o FFIW—IEN

12. f£EF > APQR= ASTR = FHIH—TEA

13.

FyIEHE ?
A D P F
X
b T~ 100°
52°
B = c E
A. a=b> p=q> x=28°
B. a=b>p=qg>x=52°
C. a=p b=qg>x=28°
D. a=p>b=qg>x=52°

—EIEHE ?

T

Q . s
Z0=/T
ZTRS =90°
PR =S8R
OR = ST

Cowp

1FElf » AABC ~ AXZY - 3K AB F1YZ -

A
X

18 em 120&
B 30 cm ¢ Y z
A. AB=12cm > YZ=20cm
B. AB=12cm’ YZ=30cm
C. AB=27cm:> YZ=20cm
D. AB=27cm: YZ=30cm

14.

15.

16.

.41 AABC~ ARQP - AB=10:PQ=
20 Jz 5AC = 2RP  NHIWE—THL0 Fy [EHE ?
A. BC=8>0R=4

B. BC=8:0QR=25
C. BC=50>QR=4
D. BC=50>QR=25

FERE T - BPC j&—REER -

A

B P C

AR/ e R A By TR 2
. AABC~ APAC

II. AABC~APBA

III. APAC~ APBA

A. HAI C.
B. HAIKI D.

A TR T
I~ 11 & I

fE[E o > AEB ~ BFD A1 CFE &2 H A% °

AD =BE k CE=BD -
A D

B (o]
AR/ e A By TEE 2
. AABD= ABCE
II. AABD~ AFBE
III. AADB~ AFBC
A. HAI C.
B. 1AL D.

HAEI
[~ 10 k2 10
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17. 7E[EH > AC 81 BD FHACHY E © E241 AD = BC 1 AC=BD -
(a) 589 AABD= /\BAC -
(b) # £4BD=32° 3k Z/DEC -

18. TE[ET » ADC F—RE4R*M1 LABC = ZBDC =90° -
(a) =BHH AABC~ ABDC -
(b) #HH BC>=AC x DC -




EAGEEFIRHA TS
hREER B IEK

FIE ZT—KGE
244 HEHI: C )
LA NI I =T — O AR
{y =X {7y ~x=-8
1. 2.
4x+y=15 X=3y

X=-2y 4 y=5x-2
x+3y-5=0 " x=y+6




{

X—y=-8
X+y=4

6x=11+y
3x=16-y

{

{

3X+2y=-3
3x—-2y=9

2Xx—-5y=-12
—-3x+5y=33
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{

b=2a-5
a+b=7

m=2n-1
m=5-2n

. |

2 |

2h+k=3
5h—-k =-24

a=7b+13
6a=7b+8

19



13, KB HIE 60 > Z20E 12 © SKEZFIH
13. SECRHIER x > TRy NYER » -

14. EXIK ~ /NEHIRTE 100 > HECRHVEUE R NYEEY 3 5 © KU NYEL -

15. F25a— ISR > Hif3Lsa 48 (EEHAT 132 50 -

ZEG RIS %/ D& ?
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16.

17.

18. 2 FESMERT O BRig ez

e y=7-2X
2 =2y _4

A, x=-6>y=5
B. x=-5>y=6
C. x=5>y=-06
D. x=6>y=-5

(2h-3k=-1

i {3h+2k=—34 °
A h=-9k=-6
B. h=-8:>k=-5
C. h=-7>k=-5
D. h=—6>k=—4

RS AT E(E -
A. S8

B. %9
C. $10
D. §11

EBEE $92 - [fi 8 BEESEA 3 BRARAARAVAE B (EIE $104 - XK—

19. L5005 18 (EIEKE » THIEA 101 (BT - 508t 1A = fiEreflE Sk » Sk S rtee

BH -
A. S
B. 7
C. 9
D. 11

16

17

18

19

21



L R R L e — ST ¢
20.3h+8k+3=—h—3k—T=-4

Em=3—n
7

21. 4
7m—2n+10:0
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22, EBUNER S B - SR NS a@% C INESAES R 2

23. T%ﬁiﬁc?%bjillﬁ FERRVUFR Kl &2 - 8 — SF AR iR HY 3 & - fEAK




1.

2,

3. OKIETHY 0 > HEE R RARITHINE -

e

Ut
& > sin 0=
A- @ o

97
B- E o

97
CI @ o

72
D- ﬂ o

72
SENTE - 5K 0 - gI{E > #EfER
A. 35°
B. 36°
C. 37°
D. 38°

A.

B.
C.
D.

EAGEEFIRHA TS
FRBEN B+TE =&tk

16°
19°
22°
25°

KNHIEE T 6 - [5F 4-6 7]
(R Brrl BdniTaik o)

4,

5.

28
53

5y & T E4K
PRl () HHA:

72 65

0

97
RPETHE -
4 8
9 P)

15 51 O

12 D
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KT E T x (Y - [58 7-9 ]
(F2FBmI = i} e o)
7. 8.

36°

62°
X cm
10. K NHIEFHY 6 -
(6% FRAED BRITH0.I0 )
(@) 9tan O=7 (b) %tan 0=6

KNI E P HIRRIE - [55 11-12 ]
11.

12.

9.
O
17
V.
3 1
c =
(c) 4tan@ 2
8
60°
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-

13. 9-3tan =6 14. 2 cos 0=

tan 30°

15. FIEEES AB B MN FHEE 100 m » EPEE AB (S EE 18 m »
—E&/NENE AB INTEED S EARTRE MN BT » T4 AT
PRAFEAIK 4R AR 16° /4 - 35 MN S B 2%/ 2

100m
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